30.3.1 H7E kA TEEADOR v REER

AN A H LRI EES IS tHasEhRe N E)
JLRG HaFL 5 wl(aEs A af sEE] ARl R B s A sl AE (H) [ (&)
‘sl 45, 619] 109, 262] 53,508] 55, 754 1| 87 50 46 o6l  -37]  397] 434 0 127 127
HI—TH 664f 1,430 701 729 -1 -1 0 0 0 -5 2 7 4 4 0
S =T B 536 1,311 659 652 —4 —7 0 1 1 —7 2 9 0 1 1
SLIL=TH 444 1,037 505 532 -2 -3 0 0 0 0 3 3 -3 0 3
SLlaEt| 1,644 3,778 1,865 1,913 -7l -11 0 1 1 -12 7 19 1 5 4
o an—T1H 478 1,018 485 533 3 1 -1 0 1 3 6 3 -1 1 2
Heorn " TH 749 1,853 902 951 -1 -3 0 1 1 -3 2 5 0 0 0
Mo R —TH 520 1,262 624 638 1 -1 -1 0 1 —6 0 6 6 7 1
g AaMNT H 374 920 450 470 1 0 1 1 0 -1 1 2 0 0 0
o] H 550[ 1,263 619 644 -1 -3 0 1 1 -3 5 8 0 0 0
g ST H 225 502 240 262 -3 -8 0 0 0 -5 0 5 -3 0 3
s ntTH 619 1,632 806 826 -2 -2 0 0 0 -2 1 3 0 1 1
g\ TH 390 925 460 465 0 -1 -2 1 3 1 2 1 0 0 0
I 587 1,458 719 739 0 -2 -2 0 2 0 5 5 0 0 0
B nait] 4,492 10,833 5,305 5,528 -2 -19 -5 4 9 -16 22 38 2 9 7
Hik R — 1 H 316 801 405 396 —4 -1 0 0 0 -1 2 3 0 0 0
I S = 932 2,060 1,022 1,038 1 0 -3 1 4 2 4 2 1 1 0
6 = 658[| 1,472 710 762 -3 —4 -1 0 1 -2 3 -1 0 1
o A 1,906 4,333] 2,137 2,196 -6 -5 —4 1 5 -1 9 10 0 1 1
ek BR—TH 5571 1,263 619 644 —4 -7 -2 0 2 -3 1 4 -2 0 2
PSR T H 379 909 483 426 0 1 1 1 0 0 1 1 0 0 0
2 = 243 555 276 279 -2 -3 0 0 0 -2 1 3 -1 0 1
£ S N 540f 1,331 687 644 1 —4 0 0 0 1 3 2 -5 0 5
sk e E 1L, 7190 4,058 2,065 1,993 -5 -13 -1 1 2 —4 6 10 -8 0 8
T 5757) 355 997 443 554 -1 -3 -3 0 3 -1 1 2 1 1 0
HOEE ) — 1 H 155 391 186 205 3 6 -2 0 2 5 5 0 3 3 0
HOEER) T H 403 984 472 512 -1 -3 0 0 0 —4 2 6 1 1 0
HOEE) =T H 661 1,698 818 880 5 9 -3 1 4 11 14 3 1 2 1
HOEESI Y T H 714 1,812 878 934 9 1 1 0 -2 3 5 10 10 0
HOEE) ] H 390 947 473 474 6 0 0 0 3 4 1 3 3 0
HOEEH S T H 395 961 467 494 0 0 0 0 0 0 0 0
HOEE I T H 634/ 1,455 698 757 10 8 -2 1 3 13 17 4 -3 0 3
HOEEF A 3,349 8,248] 3,992| 4, 256 26 35 —6 3 9 26 45 19 15 19 4
PEEER| 1,467 3,032 1,414 1,618 3 -2 1 2 1 0 9 9 -3 0 3
FHIAR 331 719 363 356 2 -2 -1 0 1 2 4 2 -3 0 3
Ewtlﬂy% TH 444 980 474 506 -2 -5 -1 0 1 -3 1 4 -1 0 1
wtlﬂy% TH 228 478 246 232 -1 -3 -1 0 1 -1 4 5 -1 0 1
B =T H 483 1,134 568 566 0 -8 -3 0 3 -3 1 4 -2 0 2
riﬂEPH%IEIT A 5631 1,225 576 649 2 2 3 1 2 6 4 -2 2 4
m g T H 203 525 253 272 0 -3 0 0 0 -1 0 1 -2 2 4
EEp L ASE 1 921 4,342 2 117 2,225 -3 -17 -3 3 6 —6 12 18 -3 4 12
‘EE AR — T H 648 1,402 663 739 4 10 1 1 0 6 10 4 3 3 0
B AR — T H 620 1,325 621 704 3 5 -2 0 2 4 5 1 3 3 0
ﬁ%% ARTEE 1,268 2,727 1,284 1,443 7 15 -1 1 2 10 15 5 6 6 0
IR 323 898 500 398 0 -1 0 0 0 -1 2 3 0 1 1
HHR—TH 684 1,676 835 841 0 -1 2 2 0 -1 5 6 -2 0 2
HR T H| 1,487 3,638] 1,796] 1,842 -2  -15 1 2 iyl  -13 16 29 -3 2 5
HHR=TH 811l 2,191 1,075 1,116 -1 1 0 2 2 3 12 9 -2 0 2
HARIT H 463 1,123 540 583 0 2 1 2 1 -1 2 3 2 2 0
PR A [ 3,445 8,628 4,246 4, 382 -3  -13 4 8 4 12 35 47 -5 4 9
JeHR—"T H 620 1,534 753 781 -1 3 1 1 0 3 6 3 -1 0 1
PR —TH 829 2,159 1,063 1,096 2 1 -1 1 2 1 2 1 1 4 3
EHIR="TH 437 958 502 456 3 4 0 0 0 1 3 2 3 3 0
bR EEF 1,886 4,651 2,318 2,333 4 8 0 2 2 5 11 6 3 7 4
H BT 322 820 393 427 0 3 0 0 0 1 4 3 2 3 1
WIEl 1,569 4,984] 2,277 2,707 0 —4 —6 1 7 1 9 8 1 4 3
P 767 1,871 927 944 -2 —7 1 1 0 -5 1 6 -3 0 3




30.3.1 B kA TEEADOR e ol AREER

INE] R EE ISR EPSIIE tEhie N E)
JLAG TR 5 sl Anl ] ARl el sEE] isAl @il AE] (H) [ (—)
HAE T A 697 1,867 958 909 1 7 1 2 1 2 6 4 4 8 4
FYE =T H 631 1,598 797 801 -1 1 -1 0 1 —4 2 6 6 9 3
FAAIEM T H 875l 2,195 1,081 1,114 2 3 0 1 1 2 6 4 1 4 3
Y E T H 571 1,400 690 710 4 7 0 0 0 4 5 1 3 3 0
FAIEST H 406f 1,040 500 540 2 0 0 0 0 7 7 0 -7 0 7
mEaEr 3,947 9,971 4,953 5,018 6 11 1 4 3 6 27 21 4 24 20
s 498[ 1,141 562 579 0 1 -1 0 1 -5 1 6 7 7 0
e —TH 326 686 336 350 1 -1 0 0 0 0 2 2 -1 0 1
e — T H 581 1,354 661 693 1 -2 -2 0 2 -2 5 2 2 0
RN 907l 2,040 997 1,043 2 -3 -2 0 2 -2 1 2 1
i — T H 278 650 318 332 -27]  -27 1 1 of -25 54 79 -3 0 3
B T H 634f 1,390 676 714 -1 -3 -3 0 3 2 1 -2 0 2
i =TH 380 988 504 484 2 3 -2 0 2 7 0 -2 0 2
EAaEt] 1,292 3,028 1,498] 1,530 -26 —27 —4 1 5 -16 64 80 -7 0 7
HHE—TH 381 1,035 495 540 -2 —4 -1 0 1 1 1 0 -4 0 4
HUE T H 4291 1,105 537 568 -2 -2 0 1 1 -1 1 2 -1 0 1
s —TH 766 1,959 987 972 2 1 -1 2 3 3 7 4 -1 3 4
HEMNT H 453l 1,056 506 550 1 -2 -2 0 2 -1 0 1 1 1 0
HHIE LT H 735 1,693 826 867 2 1 -2 1 3 1 3 2 2 2 0
HHIESNT H 226 487 249 238 0 -1 0 0 0 -1 1 2 0 0 0
wE S 2,990 7,335 3,600 3,735 1 -7 -6 4 10 2 13 11 -3 6 9
<HX—TH 609l 1,455 712 743 1 0 -1 0 1 1 6 5 0 0 0
<HXL—TH 696 1,551 775 776 -2 -9 1 2 i  -10 6 16 0 1 1
<HX=TH 506 1,186 595 591 0 1 -2 0 2 0 2 2 3 3 0
<HXWMTH 489 1,109 548 561 —4 -2 1 1 0 -3 1 4 0 0 0
<HXHTH 380 819 462 357 1 0 -2 1 3 2 2 0 0 0
<X EE] 2,680  6,120] 3,092 3,028 —4]  -10 -3 4 7t -10 17 27 3 4 1
W EART—T H 766| 1,720 867 853 -2 -2 -5 0 5 3 10 7 0 2 2
HEART T H 4250 1,097 543 554 1 -2 -2 0 2 2 2 0 -2 0 2
PIEARTAE 1,191 2,817| 1,410] 1,407 -1 —4 ~7 0 7 5 12 -2 2 4
L¥E 449 855 426 429 2 —4 0 0 0 1 4 -5 3 8
ok — 1 H 958 1,591 704 887 -9  -13 1 1 of -15 10 25 1 1 0
kA 1 H 378 645 300 345 1 2 1 1 0 4 7 3 -3 0 3
ok A= 1 H 598| 1,656 771 885 0 -6 1 1 0 -1 7 8 -6 0 6
ek H 365 800 388 412 4 1 0 0 0 1 7 6 0 0 0
ik A E 2,299 4,692] 2,163] 2,529 -4 -16 3 3 of -11 31 42 -8 1 9
FRIREET H 21 61 31 30 0 0 0 0 0 0 0 0 0 0 0
iy 761 1,844 897 947 5 1 -3 0 3 2 6 4 2 2 0
(AL 270 666 324 342 -2 -3 1 1 0 -2 2 4 -2 2 4
M ] — T H 3951 1,066 544 522 2 -1 -2 0 2 -2 2 4 3 4 1
A ] T H 320 767 387 380 0 1 0 0 0 -1 0 1 2 2 0
R AT 715 1,833 931 902 2 0 -2 0 2 -3 2 5 5 6 1
e — T H 605 1,351 684 667 5 7 1 1 0 7 16 9 -1 1 2
A T H 484f 1,218 582 636 0 -2 1 1 0 -2 1 3 -1 0 1
PEEEE A Er 1,089 2,569 1,266 1,303 5 5 2 2 0 5 17 12 -2 1 3
e 287 675 337 338 3 -1 0 1 0 3 3 3 3 0
IR 226 567 302 265 -3 —4 -3 0 3 -1 0 1 0 0 0




